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NEW QUESTION 1
Examine this command:

Which two statements are true? (Choose two.)

A. DML may be performed on tables with one or more extents in this data file during the execution of this command.
B. The tablespace containing SALES1.DBF must be altered READ ONLY before executing the command.
C. The tablespace containing SALES1.DBF must be altered OFFLINE before executing the command.
D. If Oracle Managed Files (OMF) is used, then the file is renamed but moved to DB_CREATE_FILE_DEST.
E. The file is renamed and stored in the same location

Answer: AB

NEW QUESTION 2
Which two statements are true about date/time functions in a session where NLS_DATE_FORMAT is set to DD-MON-YYYY HH24:MI:SS? (Choose two.)

A. CURRENT_TIMESTAMP returns the same date and time as SYSDATE with additional details of fractional seconds
B. SYSDATE can be queried only from the DUAL table
C. CURRENT_DATE returns the current date and time as per the session time zone
D. SYSDATE can be used in expressions only if the default date format is DD-MON-RR
E. SYSDATE and CURRENT_DATE return the current date and time set for the operating system of the database server
F. CURRENT_TIMESTAMP returns the same date as CURRENT_DATE

Answer: BC

NEW QUESTION 3
The CUSTOMERS table has a CUST_CREDIT_LIMIT column of data type NUMBER. Which two queries execute successfully? (Choose two.)

A. SELECT NVL(cust_credit_linit * .15, ‘Not Available’) FROM customers;
B. SELECT NVL2(cust_credit_linit * .15, ‘Not Available’) FROM customers;
C. SELECT NVL(TO_CHAR(cust_credit_limit * .15), ‘Not Available’) FROM customers;
D. SELECT TO_CHAR(NVL(cust_credit_limit * .15, ‘Not Available’)) FROM customers;
E. SELECT NVL2(cust_credit_limit, TO_CHAR(cust_credit_limit * .15), ‘Not Available’) FROM customers;

Answer: BC

NEW QUESTION 4
You execute this command:

Sufficient storage is available in filesystem /u01.
Which two statements are true about the BIG_TBS tablespace? (Choose two.)

A. AUTOEXTEND is possible for the datafile
B. It must be bigger than the largest SMALLFILE tablespace
C. Additional data files may not be added
D. It will be a dictionary-managed tablespace by default
E. It will always have a 32K blocksize

Answer: AB

NEW QUESTION 5
Which three statements are true about dropping and unused columns in an Oracle database? (Choose three.)

A. A primary key column referenced by another column as a foreign key can be dropped if using the CASCADE option.
B. An UNUSED column’s space is reclaimed automatically when the block containing that column is next queried.
C. An UNUSED column’s space is reclaimed automatically when the row containing that column is next queried.
D. Partition key columns cannot be dropped.
E. A DROP COLUMN command can be rolled back
F. A column that is set to UNUSED still counts towards the limit of 1000 columns per table

Answer: ABF

NEW QUESTION 6
In your data center, Oracle Managed Files (OMF) is used for all databases. All tablespaces are smallfile tablespaces.
SALES_Q1 is a permanent user-defined tablespace in the SALES database.
Examine this command which is about to be issued by a DBA logged in to the SALES database: ALTER TABLESPACE sales_q1 ADD DATAFILE;
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Which are two actions, either one of which you could take to ensure that the command executes successfully? (Choose two.)

A. Ensure that DB_RECOVERY_FILE_DEST and DB_CREATE_FILE_DEST each specify with at least50 Mb of available space.
B. Specify a path in the DATAFILE clause of the command specifying a location with at least 100M of available space.
C. Ensure that DB_CREATE_FILE_DEST specifies a location with at least 100 Mb of available space.
D. Add the AUTOEXTEND ON clause with NEXT set to 100M.
E. Ensure that DB_RECOVERY_FILE_DEST and DB_CREATE_FILE_DEST each specify locations with at least 50 Mb of available space.

Answer: BD

NEW QUESTION 7
Which three statements are true about GLOBAL TEMPORARY TABLES? (Choose three.)

A. A TRUNCATE command issued in a session causes all rows in a GLOBAL TEMPORARY TABLE for the issuing session to be deleted.
B. GLOBAL TEMPORARY TABLE rows inserted by a session are available to any other session whose user has been granted select on the table.
C. GLOBAL TEMPORARY TABLE space allocation occurs at session start.
D. Any GLOBAL TEMPORARY TABLE rows existing at session termination will be deleted.
E. A GLOBAL TEMPORARY TABLE’S definition is available to multiple sessions.
F. A DELETE command on a GLOBAL TEMPORARY TABLE cannot be rolled back.

Answer: BCF

NEW QUESTION 8
Which three functions are performed by dispatchers in a shared server configuration? (Choose three.)

A. writing inbound request to the common request queue from all shared server connections
B. checking for outbound shared server responses on the common outbound response queue
C. receiving inbound requests from processes using shared server connections
D. sending each connection input request to the appropriate shared server input queue
E. broadcasting shared server session responses back to requesters on all connections
F. sending shared server session responses back to requesters on the appropriate connection

Answer: ACD

NEW QUESTION 9
Examine this command and some partial output:

Why does the DB01.abc.com service show unknown status?

A. The service DB01.abc.com is dynamically registered
B. The LOCAL_LISTENER database parameter is not set to a service name that refers to LISTENER_1
C. The service DB01.abc.com is statically registered
D. The listener is not listening on the default port 1521
E. The SID_LIST_LISTENER section is not contained in the LISTENER.ORA file

Answer: B

NEW QUESTION 10
The EMPLOYEES table contains columns EMP_ID of data type NUMBER and HIRE_DATE of data type DATE.
You want to display the date of the first Monday after the completion of six months since hiring.
The NLS_TERRITORY parameter is set to AMERICA in the session and, therefore, Sunday is the first day on the wee.
Which query can be used?

A. SELECT emp_id, ADD_MONTHS(hire_date, 6), NEXT_DAY(‘MONDAY’) FROM employees;
B. SELECT emp_id, NEXT_DAY(ADD_MONTHS(hire_date, 6), ‘MONDAY’) FROM employees;
C. SELECT emp_id, NEXT_DAY(MONTHS_BETWEEN(hire_date, SYSDATE), 6) FROM employees;
D. SELECT emp_id, NEXT_DAY(ADD_MONTHS(hire_date, 6), 1) FROM employees;

Answer: B

NEW QUESTION 10
Your database instance was shut down normally and then started in NOMOUNT state. You then execute this command:
ALTER DATABASE MOUNT;
Which two actions are performed? (Choose two.)

A. The online redo logs are opened
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B. The online data files are opened
C. The alert log records the execution details
D. The Oracle background processes are started
E. The initialization parameter file is read
F. The control file is read

Answer: DF

NEW QUESTION 12
Which statement is true about aggregate functions?

A. Aggregate functions can be nested to any number of levels
B. The AVG function implicitly converts NULLS to zero
C. Aggregate functions can be used in any clause of a SELECT statement
D. The MAX and MIN functions can be used on columns with character data types

Answer: A

NEW QUESTION 15
Which three statements are true about a self-join? (Choose three.)

A. The ON clause must be used
B. The query must use two different aliases for the table
C. It must be an equi join
D. It must be an inner join
E. The ON clause can be used
F. It can be an outer join

Answer: BDE

NEW QUESTION 20
Which two statements are true about trace files produced by the Oracle Database server? (Choose two.)

A. They can be written by server processes
B. Trace files are written to the Fast Recovery Area (FRA)
C. They can be written by background processes
D. All trace files contain error information that require contacting Oracle Support
E. Trace file names are based on the database name concatenated with a sequential number

Answer: AC

NEW QUESTION 21
Examine these commands:

Which two statements are true about the sqlldr execution? (Choose two.)

A. It overwrites data in EMP with data in EMP.DAT
B. It uses the database buffer cache to load data
C. It generates a log that contains control file entries, which can be used with normal SQL*Loader operations
D. It generates a sql script that it uses to load data from EMP.DAT to EMP
E. It appends data from EMP.DAT to EMP

Answer: BD

NEW QUESTION 22
Which two tasks can you perform using DBCA for databases? (Choose two.)
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A. Configure a nonstandard block size for a new database
B. Register a new database with an available Enterprise Manager Management server
C. Change the standard block size of an existing database
D. Configure incremental backups for a new database
E. Enable flashback database for an existing database

Answer: BC

NEW QUESTION 24
Which three statements are true about time zones, date data types, and timestamp data types in an Oracle database? (Choose three.)

A. The CURRENT_TIMESTAMP function returns data without time zone information
B. A TIMESTAMP WITH LOCAL TIMEZONE data type column is stored in the database using the time zone of the session that inserted the row
C. A TIMESTAMP data type column contains information about year, month, and day
D. The DBTIMEZONE function can return an offset from Universal Coordinated Time (UTC)
E. The SESSIONTIMEZONE function can return an offset from Universal Coordinated Time (UTC)

Answer: ADE

NEW QUESTION 25
What is true about non-equijoin statement performance? (Choose two.)

A. Table aliases can improve performance
B. The BETWEEN condition always performs better than using the >= and <= conditions
C. The join syntax used makes no difference to performance
D. The BETWEEN condition always performs less well than using the >= and <= conditions
E. The Oracle join syntax performs better than the SQL:1999 compliant ANSI join syntax

Answer: AE

NEW QUESTION 28
Examine the description of the SALES1 table:

SALES2 is a table with the same description as SALES1. Some sales data is duplicated in both tables.
You want to display the rows from the SALES1 table which are not present in the SALES2 table. Which set operator generates the required output?

A. INTERSECT
B. UNION ALL
C. UNION
D. SUBTRACT
E. MINUS

Answer: E

NEW QUESTION 29
Which two statements are true about the ORDER BY clause when used with a SQL statement containing a SET operator such as UNION? (Choose two.)

A. Column positions must be used in the ORDER BY clause
B. Only column names from the first SELECT statement in the compound query are recognized
C. The first column in the first SELECT of the compound query with the UNION operator is used by default to sort output in the absence of an ORDER BY clause
D. Each SELECT statement in the compound query must have its own ORDER BY clause
E. Each SELECT statement in the compound query can have its own ORDER BY clause

Answer: BE

NEW QUESTION 30
Which three statements are true about inner and outer joins? (Choose three.)

A. A full outer join returns matched and unmatched rows
B. An inner join returns matched rows
C. Outer joins can only be used between two tables per query
D. A full outer join must use Oracle syntax
E. Outer joins can be used when there are multiple join conditions on two tables
F. A left or right outer join returns only unmatched rows

Answer: ABF
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NEW QUESTION 32
Which three statements are true about external tables in Oracle 18c and later releases? (Choose three.)

A. External table files can be used for other external tables in a different database
B. The ORACLE_LOADER access driver can be used to unload data from a database into an external table
C. The ORACLE_DATAPUMP access driver can be used to unload data from a database into an external table
D. They cannot be partitioned
E. The ORACLE_DATAPUMP access driver can be used to load data into a database from an external table
F. They support UPDATEs but not INSERTs and DELETEs

Answer: ABF

NEW QUESTION 37
Which two statements are true about UNDO and REDO? (Choose two.)

A. The generation of UNDO generates REDO
B. DML modifies Oracle database objects and only generates UNDO
C. The generation of REDO generates UNDO
D. DML modifies Oracle database objects and only generates REDO

Answer: AC

NEW QUESTION 40
A script abc.sql must be executed to perform a job.
A database user HR, who is defined in this database, executes this command:
$ sqlplus hr/hr@orcl @abc.sql What will happen upon execution?

A. The command succeeds and HR will be connected to the orcl and abc.sql databases
B. The command succeeds and HR will be connected to the orcl database instance, and the abc.sql script will be executed
C. The command fails because the script must refer to the full path name
D. The command fails and reports an error because @ is used twice

Answer: B

NEW QUESTION 42
In which three situations does a new transaction always start? (Choose three.)

A. when issuing a SELECT FOR UPDATE statement after a CREATE TABLE AS SELECT statement was issued in the same session
B. when issuing a TRUNCATE statement after a SELECT statement was issued in the same session
C. when issuing a CREATE TABLE statement after a SELECT statement was issued in the same session
D. when issuing the first Data Manipulation Language (DML) statement after a COMMIT OR ROLLBACK statement was issued in the same session
E. when issuing a CREATE INDEX statement after a CREATE TABLE statement completed successfullyin the same session
F. when issuing a DML statement after a DML statement failed in the same session

Answer: ADF

NEW QUESTION 45
Which three Oracle database space management features will work with both Dictionary and Locally managed tablespaces? (Choose three.)

A. Oracle Managed Files (OMF)
B. Online table segment shrink
C. Online index segment shrink
D. Automatic data file extension (AUTOEXTEND)
E. Capacity planning growth reports based on historical data in the Automatic Workload Repository (AWR)

Answer: ADE

NEW QUESTION 47
You want to apply the principle of Least Privilege in all your live databases.
One of your requirements is to revoke unnecessary privileges from all users who have them using Privilege Analysis.
Which three types of analyses can be done using the DBMS_PRIVILEGE_CAPTURE package? (Choose three.)

A. analysis of all privileges used by all users including administrative users in the database
B. analysis of all privileges used by all users but excluding administrative users in the database
C. analysis of privileges that a user has on their own schema objects that they did not use
D. analysis of privileges that a user has on their own schema objects that they did use
E. analysis of privileges granted directly to a role that are then used by a user who has been granted that role
F. analysis of privileges granted indirectly to a role that are then used by a user who has been granted that role

Answer: ACF

NEW QUESTION 48
The SCOTT/TIGER user exists in two databases, BOSTON_DB and DALLAS_DB, in two different locations.
Each database has a tnsnames.ora file defining DALLAS_DB as a service name. Examine this command:
CREATE DATABASE LINK dblink1 CONNECT TO scott IDENTIFIED BY tiger USING ‘dallas_db’;
How do you execute the command so that only SCOTT in BOSTON_DB can access the SCOTT schema in DALLAS_DB?
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A. as SCOTT in DALLAS_DB
B. as SCOTT in BOSTON_DB
C. as SCOTT in BOSTON_DB and SYS in DALLAS_DB
D. as SYS in both the databases
E. as SCOTT in both the databases

Answer: D

NEW QUESTION 50
......
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